
SPARE PARTS 
 Automatic   



CONTENT

SPARE PARTS AUTOMATIC WELDING HEAD KAH-100D

CHUCK:
Automatic chuck, Length 44 mm
Chuck AT ball
Chuck AT for special lengths, Length 60 mm
Chuck AT for aluminum bolts, Length 44 mm

CHUCK: 
Special chuck AT for large flange studs
Chuck for earth tags Pick-Up
Springs for chucks of earth tags Pick-Up

RAMMING ROD:
Ramming rod conical Ø 3/4 mm
Ramming rod chuck AT Ball
Ramming rod, cylindrical
Ramming rod for internal thread studs >M5 and long drawn arc studs 

RAMMING ROD: 
Ramming rod for long drawn arc studs

VARIOUS:
Guide sleeve
KAH-100D insertion tube for automatic stud feeding, Length 108 mm
KAH-100D insertion tube for manual stud feeding, Length 108 mm
Cap nut

VARIOUS: 
Adapter for automatic welding head for standard chucks 82-050-00xx
Piston front KAH-100D (Standard)
Length stop KAH-100D (Standard)
Clamping nut

PISTON ROD:
Piston rod
Double-groove ring
Piston rod (internal ventilated) conical with doublegroove ring
Double-groove ring
Piston rod (internal ventilated) cylindrical with double-groove ring
Double-groove ring

ASSORTMENT PLATE COMPLETE:
Assortment plate complete for automatic welding head KAH-100D

VARIOUS: 
Shielding gas device complete KAH-100D
Hold-down device with support tube
Protective gas tube
Protective gas conical short 3 times slotted

VARIOUS: 
Distance pillar
Protective gas footplate
Inert gas diffuser
Elbow fitting, House cuppling, PU hose

PAGE 7

PAGE 8

PAGE 8

PAGE 10

PAGE 11

PAGE 12

PAGE 13

PAGE 14

PAGE 15

PAGE 16



INHALTSVERZEICHNIS

PAGE 17

PAGE 18

PAGE 19

PAGE 20

PAGE 21

PAGE 23

PAGE 24

PAGE 25

PAGE 26

SPARE PARTS AUTOMATIC WELDING HEAD KAH-100D

MASS HOLD-DOWN DEVICE:
Mass hold-down device for drawn arc with protective gas

PISTON ASSEMBLY:
Piston rear
Piston in front
Length stop (complete with brass insert)

PISTON ASSEMBLY:
Piston rod with double-groove ring
Double-groove ring
Ramming rod
Insulating ring

PISTON ASSEMBLY:
End plate W-top
Insert tube earthing stud 
Holder for insert tube, chuck
Chuck

PISTON ASSEMBLY:
Guide sleeve for earth chucks with protective cap
Cap nut for chuck 84-050-4011 for earth chucks with protective cap
Bracket Feeding hose + retaining block Feeding hose
Feeding hose

SPARE PARTS AUTOMATIC WELDING HEAD RAPIDOR QF

CHUCKS:
Automatic chuck (stud holder), Length 44 mm
Chucks AT ball
Chucks AT for special lengths, Length 60 mm
Chucks AT for aluminum studs, Length 44 mm

CHUCKS + GUIDE SLEEVES: 
Special AT chucks for large flange studs
Chucks for earth tags Pick-Up
Springs for chucks earth tags, (welded with Pick-up system)
Guide sleeve (open)

RAMMING ROD:
Ramming rod conical for Ø 3-4 mm
Ramming rod conical for 84-052-6003...84-050-6008
Ramming rod cylindrical
Ramming rod, cylindrical, for chucks 84-052-6003...84-050-6008, L 60 mm 

VARIOUS:
Rapidor piston rod with double groove ring
Holding pin
Insertion tube for automatic stud feeding, Length 139 mm
Insertion tube for manual stud feeding, Length139 mm



INHALTSVERZEICHNIS

PAGE 27

PAGE 28

PAGE 29

PAGE 31

PAGE 32

PAGE 33

PAGE 34

PAGE 35

PAGE 36

SPARE PARTS AUTOMATIC WELDING HEAD RAPIDOR QF

VARIOUS:
Cap nut
Automatic welding head adapter Standard 82-050-00xx
Piston in front Rapidor QF with length stop
Length stop
Clamping Nut

VARIOUS:
Center piston with driver and stroke adjustment
Assortment plate complete for Rapidor QF, Ø 3 - 8 mm, L 6 - 30 mm

VARIOUS:
Shielding gas device complete
Fastening for protective gas device

SPARE PARTS AUTOMATIC WELDING GUN ATP-8/ ATP-8M

CHUCKS:
Automatic chucks, Length 44 mm 
Automatic chucks AT for aluminum studs, Length 44 mm

GUIDE SLEEVE+INSERTION TUBE:
Guide Sleeve ATP-8/ATP-8M 
Insertion tube for automatic stud feeding, Length 94 mm 
Insertion tube ATP-8/ATP-8M (manual), Length 94 mm

RAMMING RODS+ASSORTMENT PLATE:
Ramming rods, conical for Ø 3/4 mm 
Ramming rod, cylindrical
Assortment plate ATP-8 automatic

ASSORTMENT PLATE, PISTON + PISTON ROD:
Assortment plate ATP-8 manuel
Piston Rod ATP-8/ATP-8M with double-groove ring
Double-groove ring 
Piston ATP-8/ATP-8M with Length stop
Length stop

VARIOUS:
Bellows ATP-8/ATP-8M 
Cap nut ATP-8/ATP-8M 
Automatic foot ring ATP-8/ATP-8M 
Foot for automatic foot ring ATP-8/ATP-8M

VARIOUS:
Shielding gas device (separate)
Shielding gas device ATP-8/ATP-8M (complete)
Shielding gas device (seperate): Shielding gas device, PU-Hose, plug nipple
Centering device ATP-8/ATP-8M



INHALTSVERZEICHNIS

PAGE 37

PAGE 39

PAGE 40

PAGE 41

PAGE 42

PAGE 43

PAGE 44

SPARE PARTS AUTOMATIC WELDING GUN ATP-8/ ATP-8M

DIVERS:
Spacer ATP-8/ATP-8M 
Triangular flange foot ring ATP-8/ATP-8M 
Centering tube ATP-8/ATP-8M

SPARE PARTS FULLY AUTOMATIC STUD FEEDER BZ-V01

BZ-V0:
BZ-V01 for stud length up to 50mm

CONVERSION KIT:
Standard conversion kits (up to 50mm)
Stud outlet
Feeding trough up to 50 mm
Slider up to stud length 50 mm 

CONVERSION KIT: 
Conversion kits (up to 30mm)
Stud outlet
Feeding trough up to 30 mm 
Slider up to stud length 30 mm

FEEDING HOUSE + HOUSE COUPLING:
Feeding House
House Coupling Automatic Feeder BZ-V01 
House Coupling Automatic Head

DIVERS:
Pneumatic clamp
Clamping claw
Pneumatic tool clamp (quick release system)
Variable zero stop for working tables

DIVERS:
Grip pliers
Torque testing device



6

SPARE PARTS 
AUTOMATIC WELDING HEAD 
KAH-100D



7

CHUCK
SPARE PARTS AUTOMATIC WELDING HEAD KAH-100D

Automatic 
chuck
Length 44 mm

Chuck AT ball

Chuck AT for 
special lengths 
Length 60 mm

Chuck AT for 
special lengths 
Length 60 mm with 
external thread

84-050-0002 Chuck AT // M 2

84-050-0025 Chuck AT // M 2,5

84-054-0003 Chuck AT // M 3

84-054-0004 Chuck AT // M 4

84-054-0005 Chuck AT // M 5

84-054-0006 Chuck AT // M 6

84-054-007 1 Chuck AT // Ø 7.1

84-054-0008 Chuck AT // M 8

84-054-0010 Chuck AT // M 10

84-052-6003 Chuck AT // M 3x60

84-052-6004 Chuck AT // M 4x60

84-052-6005 Chuck AT // M 5x60

84-052-6006 Chuck AT // M 6x60

84-052-6008 Chuck AT // M 8x60

84-053-6003 Chuck AT // M 3x60

84-053-6004 Chuck AT // M 4x60

84-053-6005 Chuck AT // M 5x60

84-053-6006 Chuck AT // M 6x60

84-053-6008 Chuck AT // M 8x60

84-054-0002KU Chuck AT // M 2

84-050-0003KU Chuck AT // M 3

Attention: Needs Piston 
rod 80-040-2661!

Required: piston in front 
with eternal threaded 
80-046-1654 and piston 
rod 80-040-2661!



8

Special chuck AT for 
large flange studs

Chuck for earth tags 
Pick-Up

Springs for chucks of 
earth tags Pick-Up

84-050-1005 Chuck AT,M5, 

Flange 8 mm

84-050-1006 Chuck AT,M6, 

Flange 9 mm

84-050-1008 Chuck AT,M8, 

Flange 12 mm

82-050-1063

82-050-1063F

CHUCK
SPARE PARTS AUTOMATIC WELDING HEAD KAH-100D

Chuck AT for 
aluminum bolts
Length 44 mm

84-050-0003AL Chuck AT (Al) M3

84-050-0004AL Chuck AT (Al) M4

84-050-0005AL Chuck AT (Al) M5

84-050-0006AL Chuck AT (Al) M6



9

RAMMING ROD
SPARE PARTS AUTOMATIC WELDING HEAD KAH-100D

Ramming rod, 
cylindrical

Ramming rod for 
internal thread studs
 >M5 and long 
drawn arc studs

84-070-1004 36 mm / z 3 mm

84-070-1005 34 mm / z 5 mm

84-070-1006 33 mm / z 6 mm

84-070-1008 31 mm / z 8 mm

84-070-1010 30 mm / z 10 mm

84-070-1012 28 mm / z 12 mm

84-070-1015 25 mm / z 15 mm

84-070-1020 20 mm / z 20 mm

84-070-1025 15 mm / z 25 mm

84-070-1030 10 mm / z 30 mm

84-071-1010 10 mm 70 mm

84-071-1015 15 mm 65 mm

84-071-1020 20 mm 60 mm

84-071-1025 25 mm 55 mm

84-071-1030 30 mm 50 mm

84-071-1035 35 mm 45 mm

84-071-1040 40 mm 40 mm

84-071-1045 45 mm 35 mm

84-071-1050 50 mm 30 mm

84-071-1055 55 mm 25 mm

Ramming rod conical
Ø 3/4 mm

Ramming rod 
chuck AT ball

84-070-2005 34  mm/k 5 mm

84-070-2006 33  mm/k 6 mm

84-070-2008 31 mm/k 8 mm

84-070-2010 30  mm/k 10 mm

84-070-2012 28  mm/k 12 mm

84-070-2015 25  mm/k 15 mm

80-040-2002 for 2 mm ball

80-040-2003 for 3 mm ball

Length 

Ramming Rod	  

Length 

Stud	  

Length 
Ramming Rod	  

Length 
Ramming Rod	  

Length 
Stud	  

Length 
Stud	  



10

RAMMING ROD
SPARE PARTS AUTOMATIC WELDING HEAD KAH-100D

Ramming rod for long 
drawn arc studs 84-071-1010 10 mm 70 mm

84-071-1015 15 mm 65 mm

84-071-1020 20 mm 60 mm

84-071-1025 25 mm 55 mm

84-071-1030 30 mm 50 mm

84-071-1035 35 mm 45 mm

84-071-1040 40 mm 40 mm

84-071-1045 45 mm 35 mm

84-071-1050 50 mm 30 mm

84-071-1055 55 mm 25 mm

Length 

Ramming Rod	  

Length 

Stud	  



11

VARIOUS
SPARE PARTS AUTOMATIC WELDING HEAD KAH-100D

Guide sleeve

Note: use the next larger guide 
sleeve from a stud length of 16 
mm
For Example: studs PT M3 x 16 
guide sleeve for M4

KAH-100D insertion 
tube for automatic stud 
feeding
Length 108 mm

KAH-100D insertion 
tube for manual stud 
feeding
Length 108 mm

Cap nut

84-041-1301 M 3

84-041-1302 M 4

84-041-1303 M 5

84-041-1304 M 6

84-041-1305 M 8

84-040-2211 M 3 VBZ

84-040-2212 M 4 VBZ

84-040-2213 M 5 VBZ

84-040-2214 M 6 VBZ

84-040-2215 M 8 VBZ

84-040-2111 M 3 manual

84-040-2112 M 4 manual

84-040-2113 M 5 manual

84-040-2114 M 6 manual

84-040-2115 M 8 manual

80-040-1663



12

VARIOUS
SPARE PARTS AUTOMATIC WELDING HEAD KAH-100D

Clamping nut

Adapter for automatic 
welding head for stan-
dard chucks 
82-050-00xx

Piston front 

KAH-100D (Standard)

Length stop KAH-100D
(Standard)

80-045-1654

80-040-1657

80-040-1655

90-050-4010

consisting of:

80-040-1253	 Adapter cone STD/AT

80-040-1254	 Cap nut STD/AT Adapter

Note: Piston front and 
length stop are always 
delivered together!



13

PISTON ROD
SPARE PARTS AUTOMATIC WELDING HEAD KAH-100D

Piston rod (internal 
ventilated) 
conical with double-
groove ring

Piston rod (internal 
ventilated) 
cylindrical with 
double-groove ring

Piston rod

Double-groove ring

Piston rod for Chucks, 

Length 60 mm

Double-groove ring

80-040-1656

84-052-600X

80-010-1289

80-010-1289

84-040-1794 stud length 6 mm

84-040-1795 stud length 6 mm

Double-groove ring

Double-groove ring

80-010-1289  

80-010-1289  

Note: 
Piston rod and double-
groove ring are always 
delivered together! 

Note: 
Piston rod and double-
groove ring are always 
delivered together! 

Note: 
Piston rod and double-
groove ring are always 
delivered together! 

Note: 
Piston rod and double-
groove ring are always 
delivered together! 

80-040-1793 stud length 5 mm

80-040-1796 stud length 8 mm



14

ASSORTMENT PLATE 
SPARE PARTS AUTOMATIC WELDING HEAD KAH-100D

Assortment plate 
complete for welding 
head KAH-100D
Ø 3 - 8 mm
Length 6 - 30 mm

M3 M4 M5 M6 Ø 7,1 M8

Insertion tube 84-040-2211                                                                        
From stud length 
16mm:  
Insertion tube M4            
84-040-2212                                                                                          

84-040-2212                                                                        
From stud length  
16mm:  
Insertion tube M5           
84-040-2213                                                                                          

84-040-2213                                                                        
From stud length  
16mm:  
Insertion tube M6 
84-040-2214                                                                                          

84-040-2214                                                                        
From stud length 
16mm:  
Insertion tube Ø7,1 
/ M8
84-040-2215                                                                                          

84-040-2215 84-040-2215

Guide sleeve 84-041-1301                                                                        
From stud length  
16mm:  
Guide sleeve M4           
84-041-1302                                                                                          

84-041-1302                                                                         
From stud length  
16mm:  
Guide sleeve M5           
84-041-1303                                                                                          

84-041-1303                                                                         
From stud length 
16mm:  
Guide sleeve M6           
84-041-1304                                                                                          

84-041-1304                                                                         
From stud length 
16mm:  
Guide sleeve Ø7,1 
/ M8  
84-041-1305                                                                                          

84-041-1305 84-041-1305

Chuck 84-054-0003 84-054-0004 84-054-0005 84-054-0006 84-054-0071 84-054-0008

Ramming Rod Watch Tables Ramming Rod and stud length on page 7

Note: As an alternative to the larger 
guide sleeves and insertion tubes, you 
can also use the open guide sleeve 
from the Rapidor QF (84-044-130X)

90-050-4016 

consisting of:	 Insertion tube M3-M8

	 Guide sleeve M3-M8

	 Chuck M3-M8

	 Ramming Rod 6-30 mm

	 Pin

	 Chuck wrench



15

VARIOUS
SPARE PARTS AUTOMATIC WELDING HEAD KAH-100D

Hold-down device 
with support tube

Protective gas tube

Shielding gas device 
complete KAH-100D

80-042-1188 Protective gas tube, L 33 mm, Ø 30 mm

80-041-1188 Protective gas tube, L 38,5 mm, Ø 30 mm

80-041-1188-1 Protective gas tube, L 38,5 mm, Ø 40 mm

90-050-1107ST
consisting of
1x   80-040-1708 	 Protective gas footplate KHA-100

3x 	80-040-1554	 Distance pillar
2x  80-015-2070	 S6 x 10  DIN 913
3x 	80-015-2057	 M5 x 20 DIN 912
3x	 80-015-2054	 Washer M5, klein
1x	 80-042-1188  	 Positioing tube L 33 mm, Ø 30 mm

90-050-1106ST

consisting of:

80-041-1188	 Protective gas tube 

		  D=30 mm L=38,5mm

80-040-1708	 Protective gas footplate

80-040-1554	 Distance pillar

80-040-1748	 Inert gas diffuser

80-010-1226	 PU hose 6x4 mm

80-010-1324	 Elbow fitting M5_6

80-010-1061	 Hose coupling

etc.

Protective gas conical short 3 
times slotted

Length 39mm

Length 44mm

80-043-1188

80-044-1188



16

VARIOUS
SPARE PARTS AUTOMATIC WELDING HEAD KAH-100D

Distance pillar

Protective gas 
footplate

Inert gas diffuser

Elbow fitting
House cuppling 
PU hose 3 m

80-010-1324

80-010-1061

80-010-1226

80-040-1554

80-040-1708

80-040-1748



17

MASS HOLD-DOWN DEVICE
SPARE PARTS AUTOMATIC WELDING HEAD KAH-100D

Mass hold-down 
device for drawn arc 
with protective gas

84-040-5000



18

PISTON ASSEMBLY
SPARE PARTS AUTOMATIC WELDING HEAD KAH-100D

Piston rear

Piston in front

80-042-1611

80-042-1609

Piston assembly KAH-100  
for earthing stud with flange 14 mm

Length stop
(complete with 
brass insert)

80-042-1608



19

PISTON ASSEMBLY
SPARE PARTS AUTOMATIC WELDING HEAD KAH-100D

Ramming rod

Piston rod with 
double-groove ring

Insulating ring

80-042-1656

84-070-4011

80-042-1602

Double-groove ring 80-010-1289

80-042-1656

Note: 

Piston rod and double-
groove ring are always 

delivered together!



20

PISTON ASSEMBLY
SPARE PARTS AUTOMATIC WELDING HEAD KAH-100D

End plate W-top

Insert tube earthing 
stud

Holder for insert tube, 
chuck

Chuck

80-042-1606-1

80-042-1603

80-042-1605

84-050-4011



21

PISTON ASSEMBLY
SPARE PARTS AUTOMATIC WELDING HEAD KAH-100D

Guide sleeve for earth 
chucks with protective 
cap

Cap nut for
chuck 84-050-4011 
for earth chucks 
with protective cap
Flange Ø14 mm

84-044-2118

80-040-1801

Bracket Feeding hose + 
retaining block Feeding 
hose
(80-042-1616-X)

Feeding hose 
20x16x2 mm 
(Grounding stud W-Top)

80-042-1617       

80-010-1204       



SPARE PARTS 
AUTOMATIC WELDING HEAD 
RAPIDOR QF



23

CHUCKS
SPARE PARTS AUTOMATIC WELDING HEAD RAPIDOR QF

Chucks AT for 
special lengths 
Length 60 mm

Attention: Needs 
special ramming rod 
84-070-2001 or 
84-070-1001!

Chucks AT for 
aluminum studs 
Length 44 mm

Chucks AT ball 84-054-0002KU

84-050-0003KU

Chuck AT ball, Ø 2 mm

Chuck AT ball, Ø 3 mm

Automatic chuck 
(stud holder) 
Length 44 mm

84-050-0002 Chuck AT, M 2

84-050-0025 Chuck AT, M 2,5

84-054-0003 Chuck AT, M 3

84-054-0004 Chuck AT, M 4

84-054-0005 Chuck AT, M 5

84-054-0006 Chuck AT, M 6

84-054-0071 Chuck AT, Ø  7.1

84-054-0008 Chuck AT, M 8

84-054-0010 Chuck AT, M 10

84-052-6003 Chuck AT,M3x60

84-052-6004 Chuck AT,M4x60

84-052-6005 Chuck AT,M5x60

84-052-6006 Chuck AT,M6x60

84-052-6008 Chuck AT,M8x60

84-050-0003AL Chuck AT(Al) M3

84-050-0004AL Chuck AT(Al) M4

84-050-0005AL Chuck AT(Al) M5

84-050-0006AL Chuck AT(Al) M6



24

SPARE PARTS AUTOMATIC WELDING HEAD RAPIDOR QF

Guide sleeve (open) 84-044-1301 M 3

84-044-1302 M 4

84-044-1303 M 5

84-044-1304 M 6

84-044-1305 M 8

Special AT chucks for 
large flange studs

84-050-1005 Chuck AT,M5, Flange 8 mm

84-050-1006 Chuck AT,M6, Flange 9 mm

84-050-1008 Chuck AT,M8, Flange 12 mm

Chucks for earth tags 
Pick-Up

82-050-1063

Springs for chucks 
earth tags, (welded 
with Pick-up system)

82-050-1063F

CHUCKS + GUIDE SLEEVES

Note: 

For short studs, use the guide sleeve for 

M3 84-041-1301 and for M4 

84-041-1302 closed from KAH-100D



25

RAMMING ROD
SPARE PARTS AUTOMATIC WELDING HEAD RAPIDOR QF

Ramming rod 
cylindrical

Ramming rod, cylind-
rical, for chucks 84-
052-6003...  
84-050-6008

Length 60 mm

Ramming rod 
conical  
for 84-052-6003...
84-050-6008

Ramming rod conical  
for Ø 3-4 mm

84-070-2015

25 mm/k          

length ramming rod

41 mm/k

length ramming rod

84-070-2001

84-070-1015

84-070-1001

25 mm/z          

41 mm/z

Length Ramming Rod      

Length Ramming Rod       



26

VARIOUS
SPARE PARTS AUTOMATIC WELDING HEAD RAPIDOR QF

Rapidor piston rod 
with double groove 
ring

Holding pin 80-040-1441 2x50 mm

80-044-1656

80-010-1289

Insertion tube for auto-
matic stud feeding
Length 139 mm

Insertion tube for 
manual stud feeding
Length139 mm

84-041-2211 M 3 VBZ

84-041-2212 M 4 VBZ

84-041-2213 M 5 VBZ

84-041-2214 M 6 VBZ

84-041-2215 M 8 VBZ

84-042-2211 M 3 manual

84-042-2212 M 4 manual

84-042-2213 M 5 manual

84-042-2214 M 6 manual

84-042-2215 M 8 manual

Note: 

Piston rod and double-
groove ring are always 

delivered together!



27

VARIOUS
SPARE PARTS AUTOMATIC WELDING HEAD RAPIDOR QF

80-040-1663Cap nut

Automatic welding 
head adapter
Standard 
82-050-00xx

Piston in front 
Rapidor QF

Length stop 
Rapidor QF

80-045-1654

80-040-1657

Clamping Nut 80-040-1655

90-050-4010

consisting of:

80-040-1253	 Adapter Konus STD/AT

80-040-1254	 Cap nut STD/AT Adapter

Note: 

Piston in front and 
length stop are always 
delivered together!



28

VARIOUS
SPARE PARTS AUTOMATIC WELDING HEAD RAPIDOR QF

Assortment plate 
complete
Rapidor QF
Ø 3 - 8 mm
Length 6 - 30 mm

Center piston with 
driver and stroke 
adjustment

80-044-1668

90-051-4016 

consisting of:

Insertion tube M3-M8

Guide sleeve M3-M8

Chuck M3-M8

Ramming rod 6-30 mm

Pin

Chuck wrench

M3 M4 M5 M6 Ø 7,1 M8

Insertion tube 84-041-2211 84-041-2212 84-041-2213 84-041-2214 84-041-2215 84-041-2215

Guide sleeve 84-044-1301 84-044-1302 84-044-1303 84-044-1304 84-044-1305 84-044-1305

Chuck 84-054-0003 84-054-0004 84-054-0005 84-054-0006 84-054-0071 84-054-0008

Ladestößel 84-070-2015 84-070-2015 84-070-1015 84-070-1015 84-070-1015 84-070-1015

Note: We recommend using a closed 
guide sleeve (see KAH-100D 84-
040-221X) for bolt lengths shorter 
than 16 mm



29

VARIOUS
SPARE PARTS AUTOMATIC WELDING HEAD RAPIDOR QF

Shielding gas device 
complete 
 

Fastening for 
protective gas device

ON REQUEST

90-051-1106ST

consisting of:
90-051-1106	 Shielding gas device 
80-041-1188	 Protective gas tube D=30 mm L=38,5mm

80-040-1708	 Distance pillar
80-040-1552	 distance pillar
80-040-1551	 distance pillar
80-040-1748	 Diffusor
80-040-1549	 Fastening for protective gas device
80-040-1550	 Admission protective gas device
80-010-1226	 PU-hose 6x4 mm
80-010-1324	 Elbow fitting M5_6
80-010-1105	 Plug-in nozzle 

etc.



SPARE PARTS 
AUTOMATIC WELDING GUN 

ATP-8/ATP-8M 



31

CHUCKS
SPARE PARTS AUTOMATIC WELDING GUN ATP-8/ATP-8M

Automatic chucks AT 
for aluminum studs 
Length 44 mm

Automatic chucks 
Length 44 mm

84-050-0002 Chuck AT, M 2

84-050-0025 Chuck AT, M 2,5

84-054-0003 Chuck AT, M 3

84-054-0004 Chuck AT, M 4

84-054-0005 Chuck AT, M 5

84-054-0006 Chuck AT, M 6

84-054-0071 Chuck AT, Ø  7.1

84-054-0008 Chuck AT, M 8

84-054-0010 Chuck AT, M  10

84-050-0003AL Chuck AT(Al) M3

84-050-0004AL Chuck AT(Al) M4

84-050-0005AL Chuck AT(Al) M5

84-050-0006AL Chuck AT(Al) M6



32

GUIDE SLEEVE+INSERTION TUBE
SPARE PARTS AUTOMATIC WELDING GUN ATP-8/ATP-8M

Insertion tube ATP-8/
ATP-8M (manual) 
Length 94 mm

Insertion tube for 
automatic stud 
feeding
Length 94 mm

84-043-2111 M 3 manual

84-043-2112 M 4 manual

84-043-2113 M 5 manual

84-043-2114 M 6 manual

84-043-2115 M 8 manual

84-043-2211 M3  VBZ

84-043-2212 M4 VBZ 

84-043-2213 M5 VBZ

84-043-2214 M6 VBZ

84-043-2215 M8  VBZ

Guide Sleeve 
ATP-8/ATP-8M

84-043-1301 M 3

84-043-1302 M 4

84-043-1303 M 5

84-043-1304 M 6

84-043-1305 M 8



33

RAMMING RODS, 
ASSORTMNENT PLATE

SPARE PARTS AUTOMATIC WELDING GUN ATP-8/ATP-8M

Ramming 
rod, 
cylindrical

84-070-1004 36 mm / z 3 mm

84-070-1005 34 mm / z 5 mm

84-070-1006 33 mm / z 6 mm

84-070-1008 31 mm / z 8 mm

84-070-1010 30 mm / z 10 mm

84-070-1012 28 mm / z 12 mm

84-070-1015 25 mm / z 15 mm

84-070-1020 20 mm / z 20 mm

84-070-1025 15 mm / z 25 mm

84-070-1030 10 mm / z 30 mm

Ramming 
rods, conical
for Ø 3/4 mm

Length 

Ramming Rod	  

Length 

Ramming Rod	  

Length 

Stud	  

Length 

Stud	  

84-070-2005 34  mm/k 5 mm

84-070-2006 33  mm/k 6 mm

84-070-2008 31 mm/k 8 mm

84-070-2010 30  mm/k 10 mm

84-070-2012 28  mm/k 12 mm

84-070-2015 25  mm/k 15 mm

Assortment plate 
complete
ATP-8 Automatic

90-052-4016 

consisting of:

Insertion tube M3-M8

Guide sleeve M3-M8

Chuck M3-M8

Ramming Rod 6-30 mm

Pin

Chuck wrench

M3 M4 M5 M6 Ø 7,1 M8

Insertion tube 84-043-2211                                                                        
From stud length 
16mm:  
Insertion tube M4            
84-040-2212                                                                                          

84-043-2212                                                                        
From stud length  
16mm:  
Insertion tube M5           
84-040-2213                                                                                          

84-043-2213                                                                        
From stud length  
16mm:  
Insertion tube M6 
84-040-2214                                                                                          

84-043-2214                                                                        
From stud length 
16mm:  
Insertion tube Ø7,1 
/ M8
84-040-2215                                                                                          

84-043-2215 84-043-2215

Guide sleeve 84-041-1301                                                                        
From stud length  
16mm:  
Guide sleeve M4           
84-041-1302                                                                                          

84-041-1302                                                                         
From stud length  
16mm:  
Guide sleeve M5           
84-041-1303                                                                                          

84-041-1303                                                                         
From stud length 
16mm:  
Guide sleeve M6           
84-041-1304                                                                                          

84-041-1304                                                                         
From stud length 
16mm:  
Guide sleeve Ø7,1 
/ M8  
84-041-1305                                                                                          

84-041-1305 84-041-1305

Chuck 84-054-0003 84-054-0004 84-054-0005 84-054-0006 84-054-0071 84-054-0008

Ramming Rod Watch Tables Ramming Rod on top



34

ASSORTMNENT PLATE, PIS-
TON, PISTON ROD

SPARE PARTS AUTOMATIC WELDING GUN ATP-8/ATP-8M

Piston rod ATP-8/
ATP-8M with double-
groove ring

Double-groove ring

84-043-1398

80-040-1296

80-040-1131

80-010-1070

Piston ATP-8/ATP-8M 
with length stop

Length stop

Assortment plate 
complete
ATP-8 Manuel

90-053-4016 

consisting of:

Insertion tube M3-M8

Guide sleeve M3-M8

Chuck M3-M8

Ramming Rod 6-30 mm

Pin

Chuck wrench

M3 M4 M5 M6 Ø 7,1 M8

Insertion tube 84-043-2211                                                                        
From stud length 
16mm:  
Insertion tube M4            
84-040-2212                                                                                          

84-043-2212                                                                        
From stud length  
16mm:  
Insertion tube M5           
84-040-2213                                                                                          

84-043-2213                                                                        
From stud length  
16mm:  
Insertion tube M6 
84-040-2214                                                                                          

84-043-2214                                                                        
From stud length 
16mm:  
Insertion tube Ø7,1 
/ M8
84-040-2215                                                                                          

84-043-2215 84-043-2215

Guide sleeve 84-041-1301                                                                        
From stud length  
16mm:  
Guide sleeve M4           
84-041-1302                                                                                          

84-041-1302                                                                         
From stud length  
16mm:  
Guide sleeve M5           
84-041-1303                                                                                          

84-041-1303                                                                         
From stud length 
16mm:  
Guide sleeve M6           
84-041-1304                                                                                          

84-041-1304                                                                         
From stud length 
16mm:  
Guide sleeve Ø7,1 
/ M8  
84-041-1305                                                                                          

84-041-1305 84-041-1305

Chuck 84-054-0003 84-054-0004 84-054-0005 84-054-0006 84-054-0071 84-054-0008

Ramming Rod Watch Tables Ramming Rod on page 33

80-042-1656

Note: 

Piston rod and double-
groove ring are always 

delivered together!

Note: 

Piston rod and double-
groove ring are always 

delivered together!



35

VARIOUS
SPARE PARTS AUTOMATIC WELDING GUN ATP-8/ATP-8M

Automatic foot ring 
ATP-8/ATP-8M

Bellows 
ATP-8/ATP-8M

Foot for automatic 
foot ring 
ATP-8/ATP-8M

Cap nut
ATP-8/ATP-8M

80-010-1083

80-040-1663

80-040-1408

80-040-1322



36

VARIOUS
SPARE PARTS AUTOMATIC WELDING GUN ATP-8/ATP-8M

Centering device 
ATP-8

80-035-1120 (Ø 20 mm) consisting of

80-035-1130 (Ø 30 mm) consisting of

80-040-1408 Automativ foot ring ATP-8

80-040-1572 Spacer

80-040-0483 Triangular flange foot ring

80-040-0120 Centering tube Ø 20 mm

80-040-1408 Automativ foot ring ATP-8

80-040-1572 Spacer

80-040-0483 Triangular flange foot ring

80-040-0130 Centering tube Ø 30 mm

90-051-1107Shielding gas device 
(separate)

Shielding gas
device ATP-8 
(complete)

Shielding gas device
(separate)
Hose Coupling
PU-Hose
Plug nipple 1/S S4

90-051-1107ST

90-051-1107 Total length 50 mm, Ø 34 mm

80-010-1061

80-010-1226 Length 3,2 m

80-010-1062



37

VARIOUS
SPARE PARTS AUTOMATIC WELDING GUN ATP-8/ATP-8M

Centering tube 
ATP-8

Triangular flange 
foot ring
ATP-8

80-040-0120 diameter 20 mm

80-040-0126 diameter 26 mm

80-040-0130 diameter 30 mm

80-040-0483

Spacer 
ATP-8/ATP-8M

80-040-1572



38

SPARE PARTS

 FULLY AUTOMATIC STUD FEEDER

BZ-V01



39

BZ-V01
SPARE PARTS FULLY AUTOMATIC STUD FEEDER BZ-V01

90-051-4103 M3

90-051-4104 M4

90-051-4105 M5

90-051-4106 M6

90-051-4171 Ø 7,1 mm

90-051-4108 M8

BZ-V01 for stud length 
up to 50mm



40

CONVERSION KIT  FOR STANDARD STUD LENGTHS                          	
					                                                                         LENGTH 50 MM

SPARE PARTS FULLY AUTOMATIC STUD FEEDER BZ-V01

Slider
up to stud length 
50 mm

Feeding trough
up to
50 mm

Standard conversion 
kits
(50mm)  
consisting of:  

stud outlet, feeding trough

and slider

Stud outlet

90-051-4003 M3

90-051-4004 M4

90-051-4005 M5

90-051-4006 M6

90-051-4071 Ø 7,1 mm

90-051-4008 M8

84-041-1603 M3

84-041-1604 M4

84-041-1605 M5

84-041-1606 M6

84-041-1671 Ø 7,1 mm

84-041-1608 M8

84-041-1703 M3

84-041-1704 M4

84-041-1705 M5

84-041-1706 M6

84-041-1771 Ø 7,1 mm

84-041-1708 M8

80-040-0503 M3

80-040-0504 M4

80-040-0505 M5

80-040-0506 M6

80-040-0571 Ø 7,1 mm

80-040-0508 M8



41

CONVERSION KIT  FOR STANDARD STUD LENGTHS                          	
					                                                                         LENGTH 50 MM

SPARE PARTS FULLY AUTOMATIC STUD FEEDER BZ-V01

Slider up to stud 
length 30 mm

Feeding trough
up to length 30 mm

Standard conversion 
kits
(30mm)  
consisting of:  

stud outlet, feeding trough

and slider

Stud outlet

90-050-4003 M3

90-050-4004 M4

90-050-4005 M5

90-050-4006 M6

90-050-4071 Ø 7,1 mm

90-050-4008 M8

84-040-1603 M3

84-040-1604 M4

84-040-1605 M5

84-040-1606 M6

84-040-1671 Ø 7,1 mm

84-040-1608 M8

84-040-1703 M3

84-040-1704 M4

84-040-1705 M5

84-040-1706 M6

84-040-1771 Ø 7,1 mm

84-040-1708 M8

80-040-0503 M3

80-040-0504 M4

80-040-0505 M5

80-040-0506 M6

80-040-0571 Ø 7,1 mm

80-040-0508 M8



42

CONVERSION KIT  FOR STANDARD STUD LENGTHS                          	
					                                                                         LENGTH 50 MM

SPARE PARTS FULLY AUTOMATIC STUD FEEDER BZ-V01

Feeding hose 

House Coupling
Automatic Feeder
BZ-V01

House Coupling
Automatic Head

Feeding House M3 80-010-1193

Feeding House M4 80-010-1194

Feeding House M5 80-010-1195

Feeding House M6 80-010-1196

Feeding House M8 80-010-1198

House Coupling M3-V 80-040-1233

House Coupling M4-V 80-040-1234

House Coupling M5-V 80-040-1235

House Coupling M6-V 80-040-1236

House Coupling M8-V 80-040-1238

House Coupling M3-P 80-040-1243

House Coupling M4-P 80-040-1244

House Coupling M5-P 80-040-1245

House Coupling M6-P 80-040-1246

House Coupling M8-P 80-040-1248



43

VARIOUS AUTOMATIC EQUIPMENT

Pneumatic clamp 90-050-1014

Clamping claw

Pneumatic tool 
clamp (quick 
release system)

90-050-1072

SPARE PARTS FULLY AUTOMATIC STUD FEEDER BZ-V01

80-040-1032 Length 30 mm

80-040-1032/63 Length 63 mm

80-040-1032/100 Length 100 mm

Variable zero point 
for work tables

90-050-5012



44

VARIOUS AUTOMATIC EQUIPMENT

SPARE PARTS FULLY AUTOMATIC STUD FEEDER BZ-V01

Grip pliers

Torque testing device

80-040-1496

99-999-0011   



45

Bolzenschweißtechnik bsk  + BT V GmbH
Daimlerstr. 25
74252 Massenbachhausen
Tel     +48 (0) 71 38 / 8 10 97- 0
Fax    +48 (0) 71 38 / 8 10 97- 29
Email: info@stud-welding.de
www.stud-welding.de

02/2021

(Errors and technical modifications reserved)


